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Показательные неравенства

1. (МГУ, ф-т психологии, 2005 ) Решите неравенство

4x + 5

2x − 11
> −1.

(−∞;1]∪(log211;+∞)

2. (МГУ, физический ф-т, 2002 )

15 · 4x−2

4x − 3x
> 1 +

(
3

4

)x

.

(0;log3
4

1
4)

3. («Ломоносов», 2005 ) Решите неравенство

1

5−x − 1
>

2− 3 · 51−x

5x − 1
.

(0;log53]

4. («Физтех», 2016 ) Решите неравенство

5
x+5
x+4 · 3x+4 > 75.

(−4;−3]∪[log35−4;+∞)

5. (МГУ, химический ф-т, 1997 )(√
2 + 1

)x
+ 1 < 2

(√
2− 1

)x
.

(−∞;0)

6. («Ломоносов», 2010 ) Решите неравенство

(
2−
√
3
)(log3 4)2−x2

6
(
2 +
√
3
)−(log4 3)2−3x

.

[−4;1]

7. («Ломоносов», 2008 ) Решите неравенство
√
9x − 5 · 2−x < 23−

x
2 − 2 · 3x.

[log185;log189)

1

Яг
уб
ов

.Р
Ф

http://mathus.ru/me.php
http://mathus.ru/math/
http://mathus.ru


8. (МГУ, мехмат, 2000 )
2
√
5 · 6x − 2 · 9x − 3 · 4x + 3x < 2x+1.
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2
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9. (МГУ, физический ф-т, 1998 )

9x − 2
2x+1

2 < 2
2x+7

2 − 32x−1.

(−∞;
3
2)

10. (МГУ, геологич. ф-т, 2002 )

32−x + 6 ·
(√

3
)2−2x

>

(
1

3

)√x2+x−2−3

.

(−∞;−2]∪(2;+∞)

11. (МГУ, мехмат, 1999 )
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1

27
6 3x

2−3 + 92x+2.
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7
4]∪{0}

12. (МГУ, экономический ф-т, 1999 )
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